Thursday 21st January 2021

To divide 2-digit numbers by

1-digit humbers, using a
number line



1xb5-=
O x 10 =
2 X4 -
BXx6-=
10 x 7 =
2 XD-=
5 x 10 =

3XxX4-=
B Xx 3=
2 X9 =
4 x6 =
10 x 10 =
33X/ =
Ox4-=



EMA - answers

1x5=5H
Ox10=0
2x4=8
B x6 =30
10x7=70
2x5=10
5x10= 50

3x4=12
Hbx3=15
2x9=18
4 x6 =24
10 x 10 = 100
3x7 =21
Ox4=0






Division asks how mam{‘ times does the smaller
number go into the bigger number?

24 - 4 =







6 jumps
+ 4 + 4 + 4 + 4 + 4 + 4
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24 -4 =6



6 jumps
+ 4 + 4 + 4 + 4 + 4 + 4
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16 - 4
+4 +4 + 4 +4
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1. Jump along the number line in jumps of the 1-digit
humber

4. Check your answer!



Thursday 20t January 2021

To divide 2-digit numbers by
1-digit humbers, using a
number line and chunking



32 + 2

5 x 2 Bhx?2

Bbx?2

0123456789 101112 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32



0123456789 101112 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32



0123456789 101112 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32

=5+5+5+1

32 -2 =16



30+5H

0123456789 101112 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30



1. Jump along the number line in jumps of the 1-digit
number. Use your known multiplication to jump
in bigger steps.

4. Check your answer!



